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Figure S1. |-V curve measuring MIT characteristics in 20 cells of a device fabricated by
depositing 3.5 sccm of oxygen flow for 7 min.
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Figure S2. |-V curve measuring MIT characteristics in 20 cells of a device fabricated by
depositing 3.5 sccm of oxygen flow for 10 min.
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Figure S3. |-V curve measuring MIT characteristics in 20
depositing 3.5 sccm of oxygen flow for 13 min.
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cells of a device fabricated by
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Figure S4. I-V curve measuring MIT characteristics in 20 cells of a device fabricated by
depositing 4.5 sccm of oxygen flow for 7 min.
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Figure S5. |-V curve measuring MIT characteristics in 20 cells of a device fabricated by
depositing 4.5 sccm of oxygen flow for 10 min.
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Figure S6. |-V curve measuring MIT characteristics in 20 cells
depositing 4.5 sccm of oxygen flow for 13 min.

of a device fabricated by
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Figure S7. |-V curve measuring MIT characteristics in 20 cells of a device fabricated by
depositing 5.5 sccm of oxygen flow for 7 min.
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Figure S8. |-V curve measuring MIT characteristics in 20
depositing 5.5 sccm of oxygen flow for 10 min.

of a device fabricated by
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Figure S9. |-V curve measuring MIT characteristics in 20

depositing 5.5 sccm of oxygen flow for 13 min.

cells of a device fabricated by
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Figure S$10. Switching time at 5 cells of a device deposited at oxygen flow rate of 3.5 sccm
for 7 min.



(vw) Jusuny

8

(vw) waundy

8

40

30

40

30

Time (us)

@
3
s g 2
=
e e
° °
S % 2 3 2 22 2 3
(n) abeljon (A) abeyon
(vw) Juaund (vw) waund
© © v & o © e v & o
8 8
< &
8 & 8
)
3
g g 8
F
£ e
° °
5 & = o 5 & = o
S % 2 3 2 22 2 3
(n) abeyon (n) aBe)joA
(vw) Juaund (vw) waundy
g g
8 5 8
3
? g ]
=
e =]
° °
5 & @ o 5 & = &
(n) aBelon (n) aBelon
(vw) uaund (vw) waund
< <
8 & 8
2
s g 2
=
e e
° °
S % 2 3 32 202 2 3
(A) abeyo, (A) abejjon
(vw) Juauny (vw) waundy
© o v o~ o © © v & o
< <
8 & 8
@
]
< g ]
I
e e
° °
5 & = o 5 & = o
& S 3

3 3 8
(A) abeljon

22 8
(n) aBejon

Time (us)

Time (us)

Time (us)

Time (us)

Figure S11. Recovery characteristics (50 ns) in 20 cells of a device fabricated by depositing

3.5 sccm of oxygen flow for 7 min.
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Figure S12. Recovery characteristics (500 ns) in 20 cells of a device fabricated by depositing

3.5 sccm of oxygen flow for 7 min.
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Figure S13. Recovery characteristics (5 pus) in 20 cells of a device fabricated by depositing
3.5 sccm of oxygen flow for 7 min.
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Figure S14. Recovery characteristics (50 us) in 20 cells of a device fabricated by depositing
3.5 sccm of oxygen flow for 7 min.
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Figure S15. Drift characteristics (50 ns) in 20 cells of a device fabricated by depositing 3.5

sccm of oxygen flow for 7 min.

(v) waund
< o

8

(v) wauny
o v

8

<
]
0
3
f o
£
=
]
°
SR S TS & 3
(n) abelon () aBenon
() waund (v) wauny
© o v & o ®© o v & o
g
8
z
2
I
£
e
S
°
P ) P )
2 3 3 3 22 2 2
(n) abelon () abelon
(v) waund (v) wauny
© o v & o ®© o v o o
g
8
?
]
Y
£
=
]
°

00

23 2
(n) abeyon
(v) uaund

00

R
() abejon
(v) wauny

0

T

Time (us)

T

P
(A) abeyon
(v) wauno

® © % o o

00

& ) &

00

(A) abeon
(v) waund
© v

4

I

30

20
Time (us)

L

10

o S &

S 2 3
(A) abeyon

0.0

o & &

2 3 8
() aBelon

0.0

30

20
Time (us)

40

10

20 30 40
Time (us)

10

20 30

Time (us)

10

Time (us)

Time (us)

Figure S16. Drift characteristics (500 ns) in 20 cells of a device fabricated by depositing 3.5

sccm of oxygen flow for 7 min.
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Figure S17. Drift characteristics (5 us) in 20 cells of a device fabricated by depositing 3.5
sccm of oxygen flow for 7 min.
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Figure S18. Drift characteristics (50 us) in 20 cells of a device fabricated by depositing 3.5
sccm of oxygen flow for 7 min.



